Analysis of simulated data
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TGT C,H,

SCN OCCUPANCY: TARGET COMPARISON, (SCN at 1m)
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SCN OCCUPANCY: 1 and 1.5 m from target (C,H,)

SCN @ 1.5m
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TRACKS per event: C,H, and C Target

number of all tracks in VTX per event
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Z reconstruction, 2 slabs
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Z reconstruction, 1 slab

. —1Using 1slabs hscn hzires
- Entries 495280
w P “ Mean 2.853
QS EILL StdDev  2.224
o 9P
5 E [
S gt
12000
10000;—
8000;—
6000;—
4000;—
2000— U \LAM hscn.hz1
03..|...J|. L e L L M T L] F Entries 4
o 1+ 2 3 4 5 6 7 8 9 Mean
Z1 reco 10° = f\ Std Dev
103;— (
10‘;—
No problem for Z identification of |
light fragments, worst for heavier r
1=
'_|'I|III||III|III|I I|IIII|IIII|IIII|IIII|IIII|

0 1 2 3 4 5 6 7 8 9
Z reco



Events

VTX: sum on 4 layers
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Statistics

Requirements:

QO No pile up in VTX (600 pus to reconstruct the event > max beam rate 1.6 KHz
0 With a C,H, Target (2 mm) = 1.15% of fragmentation

\ 4

Beam rate at 103 particle (°0) /s

4

~10 fragmentations/ s = 36 K fragmentations/ h

Is it possible to measure Total o or do/dQ ?



[hscnratres | Statistics to acquire
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10 Z reco Differential? Probably with = 2 hours of data taking
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2 hours of data taking: do/dQ
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Q Statistical problem on LI, Be, B
0 Necessary high direction precision for heavy fragments
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